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Paper - I
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BRMHAT cSnRPmEce S0 (252) BRI L HFodd LuZdRIENS.
3 BF o0 50 808 ) IR UBORE TIRQ,, e HF 0 PUBONT BRBY NN JINY
IPORRTT SRERNTS.

Note : This paper contains Sixty (60) multiple choice questions, each question carrying
two (2) marks.
Candidate is expected to answer any Fifty (50) questions.

In case more than 50 questions are attempted, only the first 50 questions will be
evaluated.

1. enx 14 BREDTTTES, BLOOT SoNT AT

1. If August 14 falls on Monday, what day
O OIS DTS 9

will be the first day of the next month ?

(A) nrxoed (A) Thursday
(B) s3m3 (B) Friday
(©) somd (C) Saturday
(D) poowd

(D) Sunday

2. NI TIODY , 2y Ty P ‘Do RE FBI
QT BowoFEedodoe a’owozjﬁaﬁi Brod3H
QTR BERIRY MO0 : FFB, TN, B30
308y Sesds

2. Identify the two words, which have the
same relation an ‘actor’ and ‘drama’ from

the following list :

book, paper, press and author
(A) PR3 =02y 5N

(A) book and paper
(B) @8 =03y a0t3ed

(B) book and press
(C) 38 208 Sesds

(C) book and author
(D) 5onc &2y Bges

(D) paper and press

X-0011 (3) 2.3.85¢ /P.T.O.
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7. Rpg, It D08 OBCoR0NY eripoRtimd

(A) RRYTR) LBRS St 33 0k ot
(B) BHC

(C) wompea®

(D) ©&epess wggnsd

8. 3ee3mazEnYors Bo0hE ot EePn ,

FBNIZYNB) ARFTH 7163-’% ZRneadd 8@&3&355&%%
BoDBES 9

(A) Reg s0esd
(B) mes) saomisd
(C) Bz aoemd
(D) womgned

9. Ty OREFSOD BBBET SRNAE
(A) Zoodaa
(B) wu%d)m’)
(C) 5 SRrIYH
(D) evdRom)sd
10. 238080383, B0 ReeROT &80300308
SUBZOIONIE LRV
(A) e
(B) =s3ex°
(C) wezes*
(D) pades
11. SR8 2o FIDVRRTY, NOF B BoFoL
5395%01)53{ DTOZTORTO
(A) Qoeges
(B) wowor & «d @
(C) Fum* o3 @
(D) gndre Fpedee s’

7. Mosquito repellent coils/mats contain
(A) Parquet
(B) BHC
(C) Toxaphene
(D) Derivatives of Allethrin

8. In a lake polluted with pesticides, which
one of the following will contains the
maximum amount of pesticide ?

(A) Small fish

(B) Microsized organisms
(C) Big fish

(D) Water Birds

. One of the best means of waste disposal
1s by

(A) Pyrolysis
(B) Scrubbing
(C) Incineration

(D) Interoxication

10. A gas produced by microbes during
sewage treatment is

(A) Acetylene

(B) Ethane

(C) Methane

(D) Propylene

11. At present maximum, green house

contribution to Earth's temperature is by
(A) Methane

(B) Carbon dioxide
(C) Nitrous oxide

(D) Chlorofluro carbons

X-0011
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12, Hmrgs drodee” 0dpewosn
(A) Re3mdFOD 3R
(B) woxgs m@dd
(C) wozg odeexs

(D) dwrope Srcwmdsd 03nexs

13. 39S 0IRT OF 2FFOO AR QTperdEcd 2
(A) sB3F R
(B) Amoznins
©) 3=y

(D) =o3netons

14. 30nen g0mn $o0nY, Wik 33D

SS2TOBUBITHT WBLBRTE DRDFoTETS

(A) Fgne S fondsy =)
N EBNTD), WIRROBR), BRRDREY,
TOFIRITIOCINNTS

(B) 20r3odds w03 @3rRcdn ATV,
F O 3RUZORY, RAWRIA

(C) Womoadzd 8gfag RBIRY, ARIBDEO
2,08 BN

(D) 203 3RS RO 23 Te) B0 Bo0s),

®

12. The controversial Koel Project is
(A) a mining project
(B) thermal power plant
(C) hydel project

(D) captive plantation project

13. Which of the following teacher will be
liked most by you ?
(A) idealist philosophy
(B) compassion
(C) discipline

(D) entertaining

14. Probably the best reminder a beginning
teacher might take with him in to his

classroom 1s

(A) learning is effective to the extent that
it involves the goals and purposes of

individual children

(B) classroom misbehaviour implies a

breakdown in pupil motivation

(C) liking children is necessary and a
sufficient condition for effective

teaching

(D) knowledge of one’s subject is the

crucial things



15. o8 IB.3 BROND DRODALR 15. How should a teacher deal with students
' 3
RowoRREOE FBNYRY Feds DT,HFTYR) who seek answer to questions which are
= 2 <
3330 ReR PRI 9 , outside the prescribed syllabus ?

(A) Droszd 5 35556 ReR RORed S (A) advise them to concentrate on the

TOEBI VgD FTBF R VeRBF
3307 FOB VRO

prescribed syllabus and do well in

the examination

(B) advise them to raise these questions
(B) 338> dnte SEB=R Boed %2 WY

AT BoBO[Re 81 @’%ﬁ#@ FeebRod RO
Qe0T) T

only after they get mastery over the

prescribed syllabus

(C) snub them on their headstrong
(C) o0 cﬁodrcﬁa”cﬁo:{i Dok, @ddﬁgﬂ

zjdongsaj)do

behaviour

(D) discuss answers and solutions to
(D) o 80 Re3o030e33), TEBROB3R

A®, 038 B> o3y A en 6v3a
) BowITNIRY WIFRO.

such questions and problems even if

it consumes extra time

16. A teacher is strict in maintaining
16. t.3F 83T ITRSOPY, T -y ©B,eST

DROONLY B3FTY VB HRSRTR, T
BRAERE, BHFO0D, 3583 B33 23e30TeBNTR)
QBR[O RoTemnd ewnersotanent
RoLORATI0R w3 RELD AGNBTE ébcs%cprr{e.ﬁg
3830 R0 O ?

discipline in class in curricular and extra
curricular activities, but there is always
room for discussion regarding clarification
of doubts in teaching, learning and
conducting other activities, what is the

approach of teacher towards students ?
(A) 0830303
(A) authoritative
(B) Sem0083
(B) democratic
(C) aoos
(C) no interest
(D) 0T o3RI 030 e,
(D) none
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21. Cj,"q:v 353030@‘ 3R0NR, wddi onR)T3e dmwde?q 21. Abolishment of untouchability and for
TOURT0S BrEoINT FoDIRT TR0 bade its practice in any form is referred

(A) esdrger 18 in which article
&3
(A) Article 18

(B) Atrticle 17
(C) Article 15
(D) Article 16

(B) eesrser 17
(C) esesrser 15
(D) ese3eser 16

22, To8y,008 e.azp%@@oﬁaa’% éisad 3530080,

22. Which commission considered national
emd;ez’ﬁdocb O3 BANBOI TONEIWBD 9

development as the most important

(A) 64-66 T 82500 3208 concern of education ?
(B) 1990 QG coomaess =00 (A) The Kothari Commission 64-66
(C) 1932 3 88503 Raperdns cloerss (B) The Ram Murti Report of 1990

e D (C) The Basic Scheme of Education 1932
(D) o=. oac;age:gaa‘ ANV

(D) S. Radhakrishnan Commission
23. FoNTSE TES030 FONF DRF LRI 98 ) ) o )
@ 23. Identify the main principle on which the

BODIHT BT, TS0

parliamentary system operates
(A) ZRER0ME SOIRFONG BRRMOE (A) Responsibility of executive to

(B) 3007033 Resor QB0 legislature
(C) Sy0dnons R T8 (B) Supremacy of parliament
(D) ©6508 drdwsod 2)6%03 (C) Supremacy of judiciary

» (D) Theory of separation of power
24. Sodh 95 e;adz::*os 358 WD, WOTE DRI

ot 3y AR oD oed 3y odowds ey 24. Three or more persons express their

RTCHRYR) TR thinking and opinions on the same theme

and problem at a
(A) Qwdreey

(A) seminar

(B) workshop

(B) so3smT
(C) Raqees

(D) wwzHE

(C) conference

(D) symposium

X-0011 © 3.3.85¢ /P.T.0.
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19. ezpagc()a z,a%oédefgg 8 RN WHESDTFOID
(A) BRI T Boed NI BORFHTO
(B) Rnss epatosd sed naom om0
(C) woBm¥a BeBEHI) BB N BORGITO
(D) 663 e@%@@o&) 2063 RIS BORTTH
20. M, VPE0NE TS e:zpdg)@péeo ca‘-’wgﬁ@ﬁ 23e3ToHD

(A) WoBTYE SF =D

(B) =638 g3t

(C) s0¢e800

(D) oedS e, e;eo:’;%ﬁem T

21. Sead30 [FT [ROS S al ;%w%osmb
(A) O, B BTN, e:az;’moamod.vr\ﬁgL Fclolan
(B) can@die Domomdms wed,
(C) Lonzod) 200
D) o, DB SHTNTY SHF S a’b%ér@dgt T Sas
22. 20300318 FFo0 Ro&Yod )
(A) 3% 304, 34 oo edosoge
(B) oo33md) cdnadie moen DEodndy
(C) ©8 = TR Cyaleveitianiel
(D) 62&5%@(9033@2, RET TR, BB
23. B003008 ToR,RY FFT REI0IZE BRI AT, TOTOONISR 0T ForoIT
(A) =30F8 $JBedn
(B) Rt90300 R0
(C) oowseod 8
(D) womd o JETRHe,

24. 33 TZWYT TW0D TTD)
(A) on a3y e:az;)a’g)%ﬁei IR BSTT Roworns
(B) e6rs @apwo%qi)e @%ﬁ Faferssnle]
(C) BontSe BTowr BeBNROR WOBTVE [ror TLodd> 3 T30S
(D) eﬁzpdéqp 0B SEREFTLANT 2w0zde NS

@)
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19.

20.

21.

22,

23.

24,

The major shift in development theory has been
(A) to focus on the role of technology

(B) to focus on human development

(C) to emphasize increase in investment

(D) to insist on economic development

It is generally believed that developing countries need
(A) transfer of capital

(B) economic growth

(C) modernisation

(D) all the above

The writer argues that the prevalent development theories
(A) have brought progress in Asia and Africa

(B) Have not made any impact

(C) Have brought regression

(D) Have destroyed the economies in Asia and Africa

Statistics show that women

(A) get a share unequal to their labour
(B) get no share in them

(C) get a very small share

(D) get an equal share in the benefits of development

The United Nations believes that only sustainable development can lead to
(A) economic growth

(B) women’s development

(C) political strength

(D) a strong democracy

The major argument in the passage is that

(A) gender and development are closely related
(B) economic growth is the only solution

(C) Third world economies need transfer of capital

(D) Development and modernisation are the same

X-0011 13

2.2.85¢. /P.T.0.



StudySite.org StudySite.org

StudySite.org StudySite.org



StudySite.org StudySite.org

StudySite.org StudySite.org



StudySite.org StudySite.org

StudySite.org StudySite.org



31.

32.

33.

34.

35.

X-0011

2.2, T0BREBIID, OBND SBEOS Jleven moigﬁ
DOFHIIIIN éa%% F2£38 QRT3 2020T3T Fdees
WOTD ﬁoﬁmecﬁéoﬁa@( SEZS, BT m@dﬁ
NTOHBOT

(A) RN, BoBReES
(B) 303n Rodpers

(C) ex,008 RoBRGS
(D) Sonpwged 3o80e5s

WOTD mdma’% #oma%é’odo Bes3o3w
(A) BgsmN LOoIPNTLIER
(B) abmeggeson bdodnndeles
(C) SZpgsorsrs®

(D) grgon WiodRnoLsesd

T3,03ReN BoBREGFO3E LBNRZDHLT 7803003
(A) Degga

(B) Snmorad @08) 880 SRERy)md

(C) 20008RTTH

(D) wogdeadss Ron®

RoZReFEI0% 2,000 BN VB0
(A) Toen SREDE

(B) MRN8

(C) wozme3wzd

(D) =0r058

OB REF Oy T3 10 B rierieed) saneasonsy
SAEBT. B3 B30 VTS ReNTUTITT
ROBRETTD DGOND)

(A) QBB w3033

(B) w3¥Seariosony

(C) eodecdd ﬁe‘meéﬂ

(D) wcinens

31.

32,

33.

34.

3s.

If a researcher conducts a research on
finding out which administrative style
contributes more to institutional
effectiveness, this will be an example of

(A) basic research

(B) action research

(C) applied research

(D) fundamental research

A normal probability curve should be
(A) positively skewed

(B) negatively skewed

(C) leptokurtic

(D) zero skewed

The process not needed in experimental
research is

(A) .obscrvation |
(B) manipulation and replication
(C) controlling

(D) reference collection

One of the essential characteristics of
research is

(A) replicability
(B) generalibility
(C) usability

(D) objectively

The Government of India conducts census
after every 10 years. The method of
research used in this process is

(A) case study
(B) developmental
(C) numeration survey

(D) experimental

2.3.85¢. /P.T.0.



StudySite.org StudySite.org

StudySite.org StudySite.org



40. 200 TTFE &a%és z%ﬁoas WRE TR,
NN IR0 2¥RRoBRTIE 7

(A) 2R, FOrnsd

(B) %003 HITE WHBSDOWAE e, FORD

(C) %oDR ORBE WTSOCRT DR T0BC3
PO

(D) %005 OIT WBGICWAT D,
BT FORD

41. 2 F LoD Fr BT FT ) T B BB

BOP, RRPTL0 WORRITT. [T, WP LD

TINTIYHNTE, BRRTO ©8,08 FRTTT

B0DOIPATS 9

(A) 20w dneser Fox 7, BRED 00T

(B) 2,000 dober o FoR® A & SR
o3

(C) o N I3 R, ;& TREOR
Doped

(D) o moe e aaf e Roghear FOR° w9,
DRRT DT

42. NSRYNYY, NP BOTo WReRES eT,30
DPORROBE OB, RPWRBTS ?
(A) es@Beedon” AFETS TR BOFNITd
FSOTRCTON

(B) e rox’, S0 Forned
FSRRCTON

(C) Torme” BoRped Fedmod wew,
Feople e ﬁ&.g}omﬁe;b IRTOT
BRYNR Goddonwen

(D) ERy2 B0 =333 A0 BedT0S e

T ESe0* ﬁagdorbmb RZBOI ds’ae%r{@ﬁ :

BHoDAN

X-0011

40. Which of the following would be included
in a daily backup of a hard disk ?

(A) All files
(B) All files changed in the past day
(C) All data files changed in the past day

(D) All program files changed in the past
day

41. A user wants to detect and clean a virus-
infected file as it is opened. Which of the

following procedure would best achieve
this ?

(A) schedule a local virus scan
(B) utilise a real-time virus scan

(C) perform a scheduled network virus

scan

(D) perform a complete virus scan of all
hard disks

42. Which of the following would indiéate
that the mother board battery has failed ?

(A) Operating system passwords are lost

(B) Files on the hard disk are lost or

corrupted

(C) Hardware settings including virtual

memory revert to default values

(D) Hardware settings, including current

date and time revert to default values

2.8.85¢./P.T.0.
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56. 2004-201039, o3z SRTOR 2.83) B000LD)

ﬁ@”’@%mhd 2
(A) M1 (B) M2
(C) M3 (D) M5

57. 2004 00z 20093357 c3nas SO
DB IZN BBRCIRROITS 9

(A) M2 (B) M3
(C) M4 (D) M5

58. odneE BRRY, b Hpesony DRlepIL S
BROAmN M1 IRE0c Jedmomotd
DB ROFemN ?
(A) 2005
(C) 2009

(B) 2006
(D) 2010

59. oInw TIRFTY,, 2830, FpeIony mmwaz
BReAANMI BRTo0D Searamndd 2801y

BTN 9
(A) 2004
(B) 2005
(C) 2006
(D) 2008

60. 2004-20103 IE0= 03n= @RTOC30
WDENDIove) mca&adﬁgl FOQRT 9

(A) M1
(B) M2
(C) M3
(D) M4 38 M5

X-0011

56.

57.

38.

59.

60.

For which model the total sale is maximum
during 2004-2010 ?

(A) M1
(C) M3

(B) M2
(D) M5
In case of which model there was a

continuous decrease in sales from 2004
to 2009 ?

(A) M2
(C) M4

(B) M3
(D) M5

In which year was the percentage of
model M1 sold to the total number of
phones sold maximum ?

(A) 2005 (B) 2006
(C) 2009 (D) 2010

In which year was the percentage of
model M1 sold to the total number of
phones sold minimum ?

(A) 2004
(B) 2005
(C) 2006
(D) 2008

Which model holds the record sale in any
year during 2004-2010 ?

(A) M1
(B) M2
(C) M3
(D) M4 and M5
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